Question 1

1)

As it is mentioned in Bishop chapter 9 section 3 the relationship between these two methods are below:

- the K-means method can cluster spherical data appropriately while the EM can work well on elliptical data either.
- k-means performs hard assignment of data point to cluster in which each data is associated uniquely with one cluster but EM method makes soft assignment based on posterior in which each cluster have wight (probability) that indicate responsibility of that cluster to create data X
- Yes on the some limits these two algorithms work similar and the limits are below: lets first get some intuition of whats going on:

Intuition

as we said K-means work fine on spherical data so we will assume that data are spherical (we will see it when we write equations we will choose Σ to be a constant times Identity matrix which means data are distributed spherical around the μ). so as we know when the variance of one Gaussian model goes to zero the model shrink around the mean so it is some how the hard assignment on data like k-means and the log likelihood function increases so if we choose variance small and the data be spherical the GMM (EM) algorithm will work similar to k-means.

limits

Assume Gaussian Mixture model in which the co-variance matrices are multiplication of a constant to Identity matrix so they are like $\Sigma = \epsilon I$ where ϵ can be presentation of radios of sphere around mean.

so distribution is like below:

$$p(x|\mu_k, \Sigma_k) = \frac{1}{2\pi\epsilon}^{0.5} e^{-\frac{1}{2\epsilon}|x-\mu_k|^2}$$
 (1)

so the posterior distribution of responsibility of each component will be:

$$\gamma(Z_{n,k}) = \frac{\pi_k N(x_n | \mu_k, \Sigma_k)}{\sum_j \pi_j N(x_n | \mu_j, \Sigma_j)}$$
(2)

by applying eq(1) we get:

$$\gamma(Z_{n,k}) = \frac{\pi_k e^{-\frac{1}{2\epsilon}|x_n - \mu_k|^2}}{\sum_j \pi_j e^{-\frac{1}{2\epsilon}|x_n - \mu_j|^2}}$$
(3)

as $\epsilon \longrightarrow 0$ so probability obtained from normal distribution goes to zero except for the component that $x_n \longrightarrow \mu_i$ (notice that in such case we assumed that there is a data that is equal to μ more safe to say that we choose closest data to mean as representation of mean so in such case the responsibility of that component goes to to one so it's like hard assignment in k-means method.

take the x_j closest to μ_j among other μ so we have:

$$\gamma(Z_{n,k}) = \frac{\pi_k e^{-\frac{1}{2\epsilon}|x_n - \mu_k|^2}}{\sum_j \pi_j e^{-\frac{1}{2\epsilon}|x_n - \mu_j|^2}}$$
(4)

$$\gamma(Z_{n,j}) = \frac{\pi_j}{\sum_k \pi_k e^{\frac{1}{2\epsilon}|x_n - \mu_j|^2 - |x_n - \mu_k|^2}} = \frac{\pi_j}{\sum_k \pi_k e^{\frac{1}{2\epsilon}\Delta_{K,n}}} =$$
(5)

for closest to μ_k to x_n we can assume $\Delta_{K,n}$ go to zero so term is one and for others the term is zero so we have:

$$\gamma(Z_{n,j}) = \frac{\pi_j}{\pi_j \sum_{k/j} \pi_k e^{\frac{1}{2\epsilon} \Delta_{K,n}}}$$
(6)

$$\epsilon \longrightarrow 0 \implies \gamma(Z_{n,j}) = 1$$
 (7)

$$\gamma(Z_{n,k/j}) = 0 \tag{8}$$

it's like hard assignment in k-means method.

so $\gamma(Z_{n,k}) \longrightarrow r_{n,k}$ as we know the likelihood function of EM-estimator is

$$E_Z[lnP(X, Z|\mu, \Sigma, \Pi] = \sum_{n=1}^{n=N} \sum_{k=1}^{k=K} \gamma(Z_{n,k}) \{ ln\pi_k + lnN(x_n|\mu, \Sigma) \}$$
 (9)

where $\gamma(Z_{n,k}) = E[Z_{n,k}]$

by replacing and applying logarithm to parameters we have :

$$MAXIMIZEE_{Z}[lnP(X, Z|\mu, \Sigma, \Pi] =$$
 (10)

$$MAXIMIZE \sum_{n=1}^{n=N} \sum_{k=1}^{k=K} \gamma(Z_{n,k}) \{ ln\pi_k + lnN(x_n|\mu, \Sigma) \}$$
 (11)

$$\epsilon \longrightarrow \infty \implies (12)$$

$$MAXIMIZE \sum_{n=1}^{n=N} \sum_{k=1}^{k=K} r_{n,k} \{ ln\pi_k + lnN(x_n | \mu, \Sigma) \}$$
 (13)

 $now \pi_k$ is obtained under condition mentioned maximization is equal to: (14)

minimize
$$\sum_{n=1}^{n=N} \sum_{k=1}^{k=K} r_{n,k} \{|x_n - \mu_k|^2\}$$
 (15)

eq(15) is exactly the objective function in k-means method ✓

 $\frac{A_b(x_a) = \frac{P(x_a, x_b)}{P(x_a)} = \frac{P(x)}{P(x_a)} = \frac{\sum_{k=1}^{\infty} \pi_k P(x_k)}{P(x_a)} = \sum_{k=1}^{\infty} \frac{\pi_k}{P(x_b)} P(x_k)$ $= \sum_{k=1}^{K} \frac{\pi_k}{P(x_0)} P(x_0, x_0 | k) = \sum_{k=1}^{K} \frac{\pi_k}{P(x_0)} P(x_0 | x_0, k) P(x_0 | k) = \sum_{k=1}^{K} \frac{\pi_k}{P(x_0)} P(x_0 | x_0, k) P(x_0 | k)$ $P(x_a|k) = \sum_{x} P(x_{a_i}x_{b}|k)$ $P(x_a) = \sum_{n_b} P(n_a, n_b) = \sum_{n_b} \sum_{n_b} T_k P(x_a, n_b | k) = \sum_{n_b} T_k$ ETKE PING, NOIK) = ETK PINGIK) $P(x_b|x_a,k) = \frac{P(x_a,x_b|k)}{P(x_a|k)}$ $l(\theta) = \sum_{i=1}^{N} \sum_{k=1}^{N} \sum_{k=1}^{N} log(\pi_{k} | \Sigma|^{\frac{1}{r}} (r\pi)^{\frac{1}{r}} exp(-\frac{1}{r} (x_{i} - \mu_{k})^{T} \sum_{k=1}^{N} (x_{i} - \mu_{k})) =$ ~ κ χ (log(πk) - + log(1Σ1) - K log(κπ) - + (π; -μκ)) $\Rightarrow \frac{\delta \ell(\theta)}{\delta \xi} = \sum_{i=1}^{N} \sum_{k=1}^{N} \left(-\frac{1}{k} \sum_{i=1}^{N} + \frac{1}{k} \sum_{i=1}^{N} (x_i - \mu_k)^T \sum_{i=1}^{N} \right) = 0$ =>-N E' + E ETK E'(x; -MK) (x; -MK) [= = = >NI= E TE (x; -MK)(x; -MK) TE $= \sum_{k=1}^{N} \sum_$ ألم و زير ماندحالت مانرس كود ارمانس هاي متفاوت عساب ي سوند.

$$P(z_{j=1}^{(i)}|x_{i},\theta) = \begin{cases} x_{i}^{i} & \text{if } x_{i} = 0 \\ \text{out } x_{i} = 0 \end{cases}$$

$$\text{Poisson}(X = x|\theta) = \begin{cases} \frac{\theta^{2}e^{-\theta}}{e^{-\theta}} & \text{out } x_{i} = 0 \\ \frac{\theta^{2}e^{-\theta}}{e^{-\theta}} & \text{out } x_{i} = 0 \end{cases}$$

$$P(z|X, \theta)$$

$$y_{j}^{i} = P(Z_{j}^{(i)} = 1 \mid \alpha_{i}, \theta) = \frac{P(\alpha_{i} \mid Z_{j}^{(i)} = 1, \theta) P(Z_{j}^{(i)} = 1)}{\sum_{k} P(\alpha_{i} \mid Z_{k}^{(i)}, \theta) P(Z_{k}^{(i)} = 1)} = \frac{\pi_{j} \mid \theta_{j}^{i}}{\sum_{k} \pi_{k} \mid \theta_{k}^{i}} e^{-\theta_{k}}$$

$$\begin{array}{ll}
\boxtimes M - \text{step} \\
\mathbb{Q}(\phi) = IE \quad \left[(\partial_{i} P(x, z|0)) \right] = \sum_{i=1}^{n} \sum_{j=1}^{n} Y_{j}^{i} I_{j} \left[\pi_{j} \theta_{j}^{i} e^{-\theta_{j}^{i}} \frac{1}{\chi_{i}!} \right] \\
\mathbb{Z} \sim P(z|x, \theta) \\
\mathbb{Z} \sim$$

L(
$$\theta$$
, λ) = $G(\theta) - \lambda$ ($\sum_{j=1}^{n} \pi_{j}^{*} - 1$)

$$\frac{\partial L}{\partial \pi_{K}} = \sum_{i=1}^{n} \sum_{j=1}^{n} y_{i}^{*} \frac{\partial}{\partial \pi_{K}} \left[\log \pi_{j}^{*} + \chi_{i} \log \theta_{j} - \theta_{j} - \log \chi_{i} \right] - \lambda = 0$$

$$\frac{\partial L}{\partial \pi_{K}} = \sum_{i=1}^{n} \sum_{j=1}^{n} y_{i}^{*} \frac{\partial}{\partial \pi_{K}} \left[\log \pi_{j}^{*} + \chi_{i} \log \theta_{j} - \theta_{j} - \log \chi_{i} \right] - \lambda = 0$$

$$\frac{\partial L}{\partial \pi_{K}} = \sum_{i=1}^{n} \sum_{j=1}^{n} y_{i}^{*} \frac{\partial}{\partial \pi_{K}} \left[\log \pi_{j}^{*} + \chi_{i} \log \theta_{j} - \theta_{j} - \log \chi_{i} \right] - \lambda = 0$$

$$\frac{\partial L}{\partial \pi_{K}} = \sum_{i=1}^{n} \sum_{j=1}^{n} \chi_{i}^{*} \frac{\partial}{\partial \pi_{K}} \left[\log \pi_{j}^{*} + \chi_{i} \log \theta_{j} - \theta_{j} - \log \chi_{i} \right] - \lambda = 0$$

$$\frac{\partial L}{\partial \pi_{K}} = \sum_{i=1}^{n} \sum_{j=1}^{n} \chi_{i}^{*} \frac{\partial}{\partial \pi_{K}} \left[\log \pi_{j}^{*} + \chi_{i} \log \theta_{j} - \theta_{j} - \log \chi_{i} \right] - \lambda = 0$$

$$\frac{\partial L}{\partial \pi_{K}} = \sum_{i=1}^{n} \sum_{j=1}^{n} \chi_{i}^{*} \frac{\partial}{\partial \pi_{K}} \left[\log \pi_{j}^{*} + \chi_{i} \log \theta_{j} - \theta_{j} - \log \chi_{i} \right] - \lambda = 0$$

$$\frac{\partial L}{\partial \pi_{K}} = \sum_{i=1}^{n} \sum_{j=1}^{n} \chi_{i}^{*} \frac{\partial}{\partial \pi_{K}} \left[\log \pi_{j}^{*} + \chi_{i} \log \theta_{j} - \theta_{j} - \log \chi_{i} \right] - \lambda = 0$$

$$\frac{\partial L}{\partial \pi_{K}} = \sum_{i=1}^{n} \sum_{j=1}^{n} \chi_{i}^{*} \frac{\partial}{\partial \pi_{K}} \left[\log \pi_{j}^{*} + \chi_{i} \log \theta_{j} - \theta_{j} - \log \chi_{i} \right] - \lambda = 0$$

$$\frac{\partial L}{\partial \pi_{K}} = \sum_{i=1}^{n} \sum_{j=1}^{n} \chi_{i}^{*} \frac{\partial}{\partial \pi_{K}} \left[\log \pi_{j}^{*} + \chi_{i} \log \theta_{j} - \theta_{j} - \log \chi_{i} \right] - \lambda = 0$$

$$\frac{\partial L}{\partial \pi_{K}} = \sum_{i=1}^{n} \sum_{j=1}^{n} \chi_{i}^{*} \frac{\partial}{\partial \pi_{K}} \left[\log \pi_{j}^{*} + \chi_{i} \log \theta_{j} - \theta_{j} - \log \chi_{i} \right] - \lambda = 0$$

$$\frac{\partial L}{\partial \pi_{K}} = \sum_{i=1}^{n} \sum_{j=1}^{n} \chi_{i}^{*} \frac{\partial}{\partial \pi_{K}} \left[\log \pi_{j}^{*} + \chi_{i} \log \eta_{j} \right] - \lambda = 0$$

$$\frac{\partial L}{\partial \pi_{K}} = \sum_{i=1}^{n} \sum_{j=1}^{n} \chi_{i}^{*} \frac{\partial}{\partial \pi_{K}} \left[\log \pi_{i}^{*} + \chi_{i} \log \eta_{i} \right] - \lambda = 0$$

$$\frac{\partial L}{\partial \pi_{K}} = \sum_{i=1}^{n} \sum_{j=1}^{n} \chi_{i}^{*} \frac{\partial}{\partial \pi_{K}} \left[\log \pi_{i}^{*} + \chi_{i} \log \eta_{i} \right] - \lambda = 0$$

$$\frac{\partial L}{\partial \pi_{K}} = \sum_{i=1}^{n} \sum_{j=1}^{n} \chi_{i}^{*} \frac{\partial}{\partial \pi_{K}} \left[\log \pi_{i}^{*} + \chi_{i} \log \eta_{i} \right] - \lambda = 0$$

$$\frac{\partial L}{\partial \pi_{K}} = \sum_{i=1}^{n} \sum_{j=1}^{n} \chi_{i}^{*} \frac{\partial}{\partial \pi_{K}} \left[\log \pi_{i}^{*} + \chi_{i} \log \eta_{i} \right] - \lambda = 0$$

$$\frac{\partial L}{\partial \pi_{K}} = \sum_{i=1}^{n} \sum_{j=1}^{n} \chi_{i}^{*} \frac{\partial}{\partial \pi_{K}} \left[\log \pi_{i}^{*} + \chi_{i} \log \eta_{i} \right] - \lambda = 0$$

$$\frac{\partial L}{\partial \pi_{K}} = \sum_{i=1}^{n} \chi_{i}^{*} \frac{\partial}{\partial \pi$$

Question 3)

1)

As it's binomial distribution it's easy to obtain:

I)
$$p(w_t, m_t | k) = \binom{m_t}{w_t} p_k^{w_t} (1 - p_k)^{m_t - w_t}$$

II) $p(w_t, m_t | ct) = \binom{m_t}{w_t} p_{ct}^{w_t} (1 - p_{ct})^{m_t - w_t}$

2)

As we know from previous question for E-step we have :

$$Q(k) = p(k|x, \theta) \propto p(x|ct = k, \theta)p(ct = k) \propto {m_t \choose x} p_k^x (1 - p_k)^{m_t - x} \pi_k$$
$$\sum_K Q(k) = 1 \implies \sum_K {m_t \choose x} p_k^x (1 - p_k)^{m_t - x} \pi_k = 1$$

As we know the equation above is propto so we need to normalize it that it adds up to one:

$$Q_t[k]^i = \frac{\binom{m_t}{x} p_k^x (1 - p_k)^{m_t - x} \pi_k}{\sum_K \binom{m_t}{x} p_j^x (1 - p_j)^{m_t - x} \pi_j}$$

3)

For writing M-step we have to maximize equation below:

$$L = \sum_{N} \sum_{K} Q_{t}[k]^{i} log(p(w_{t}|p_{k})) = \sum_{N} \sum_{K} Q_{t}[k]^{i} log(\binom{m_{t}}{w_{t}}) p_{k}^{w_{t}} (1 - p_{k})^{m_{t} - w_{t}}) =$$

$$\sum_{N} \sum_{K} Q_{t}[k]^{i} \{ log(\binom{m_{t}}{w_{t}}) + w_{t} log(p_{k}) + (m_{t} - w_{t}) log(1 - p_{k}) \}$$

$$\frac{\partial L}{\partial p_{j}} = \sum_{N} Q_{t}[j]^{i} \{ \frac{w_{t}}{p_{j}} - \frac{m_{t} - w_{t}}{1 - p_{j}} \} = \sum_{N} Q_{t}[j]^{i} \{ \frac{w_{t} - m_{t} p_{j}}{p_{j} - p_{j}^{2}} \} = 0 \implies$$

$$\sum_{N} Q_{t}[j]^{i} \{ w_{t} - m_{t} p_{j} \} = 0 \implies p_{j} = \frac{\sum_{t=1}^{N} Q_{t}[j]^{i} w_{t}}{\sum_{t=1}^{N} Q_{t}[j]^{i} m_{t}} \checkmark$$

Bayes Theorem: P(O|X) = P(XIO)P(O)
P(X) 4.1 => ln P(0 |X) = ln P(x 10) + ln P(0) - ln P(x) $= \ln \mathbb{P}(\theta | \mathbf{x}) \propto \ln \left(\sum \mathbb{P}(\mathbf{x}, \mathbf{z}|\theta) \right) + \ln \mathbb{P}(\theta) = \ln \left(\sum \mathbb{P}(\mathbf{x}, \mathbf{z}|\theta) \mathbb{P}(\theta) \right)$ up E Alonstolia (m). Indominated J = 1 P(0) dol citale Tite lie you (B(ZXX)) Continuo (M Jis lucon B wanting. E-Step: calculate P(Z|X,01d) M-Step: = argmax = P(z/X,014) /n[P(x,Z10)P(0)] = argmax = P(z1x, & l)/nP(x,z10) + lnP(0) die Cubrilola ent (vail (latent view) Z, (observed view) X vilial 4.2 بانتره به داده مای سنوال، به این مورت تعریف ای سوند: Xe YA or C, B, D7 Ze YA, B, C, D4 باتدم داده های سوال ، لانها ۱۳ حالت دارد در داری کم بردست املی ۲ حالت دارد حالاباردب مست اول سوال معادلات EM رامي ترسم.

E-Step:
$$\mathbb{P}_{1}^{2}Z=A \mid X=A \text{ or } C \mid = \frac{1}{1+2\theta}$$
 $\mathbb{P}_{1}^{2}Z=C \mid X=A \text{ or } C \mid = \frac{2\theta}{1+2\theta}$

.) Juncy juncy (Solver, Solver, Solver,